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Question No. 1
The change in the of a body with respect to time is called acceleration.
A)Force B)Momentum
C)Velocity D)Torque
AT & wder R N & # qRace F ROT FgT AT &
A)TeT B)daeT
C)yaer D)eteh

AnswerKey : C

Question No. 2

If an object is on both ends, then the force applied on it is known as tension.
A)Pushed B)Twisted
C)Pulled D)Bent
IR FS G AN BRI W _____ &, & 39 W T T a7 H q46 F §7 & S0 ST g
A)trerelr E'é B)U&r Eé
C)drr g D)&fra
AnswerKey : C

Question No. 3
According to Newton's law, the forces between two bodies are always equal and act in the opposite
direction.
A)First B)Second
C)Third D)Fourth
e & e & 3w, & Rist & @ 7 ao gA SR gar § 3R Rl R & FR awar
A)Tger B)eaY
C)dray D)=l
Answer Key: C

ion No. 4

The mass of a body determined by measuring the produced by a known force on it is known as
inertial mass.
A)Acceleration B)Momentum
C)Torque D)Friction
ey Rz W, I I G@RT 3Tt & AT AURT oA 1 S5 FoaAT § § H ST ST
gl

A)eaioT B)#aeT
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C)erh D)ersor

Answer Key : A

Question No. 5
Which of the following fields is an example of the vector field?
A)Velocity field B)Gravitational field
C)Electric force field D)AII of the options

fArafaf@d & & i ar &7 Iy &7 1 3T §7

AT a7 B)aecaThyoT &7
C)feegd s« a1 D)fasheat & @ Tl
Answer Key : D

Question No. 6

A body is a body with a perfectly definite and unchanging shape.
A)Deformable B)Elastic
C)Rigid D)Relative

s qofaar AREa 3R 3Readea 3R arer v ®s gidar gl
A faee B)Searey
C)xe D)&Tdet

Answer Key : C

Question No. 7
Aline drawn in a fluid such that its tangent at each point is parallel to the local fluid velocity is called the-
A)Steadygraph B)Streamline
C)Linepath D)Flowgraph

el e F e a1§ 39 Y@r A w4 FE A ¢ S Tl g B TRaE Ry & F a9 & A

gl §7
AR ITH B)eRRf&@d
C)arsauy D)Feilams
Answer Key : B
Question No. 8
The perpendicular distance of the velocity vector of the a-particle from the centre line nucleus is known as-
A)Time B)Speed
C)Distance D)Impact parameter

&g @ AfAF { a-FHOT F A [ Hr FEad g F AT T AT 82
A)aFTT B)afar
C)gdr D)geg wrae
Answer Key : D
Question No. 9
The property of a gyroscope that causes a change in the direction of the axis of a spinning object is known
as-
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A)Translation B)Vertical spin
C)Rolling D)Precession
SIS & d§ IOT Sif FeshdAlel a&g 1 gi A Gur F aRader &1 HROT ol g, FFTH
ST ST g
A)TATATERTT (Translation) B)FeaTeR eishoT
C)faeT D)qREEIOT (Precession)
Answer Key : D
Question No. 10
According to Kepler's first law of planetary orbits, the path of the planets about the Sun is-
A)Hexagonal B)Oval
C)Circular D)Elliptical
FIR & TOT FMHT F vuA e F IEER, §F F 9RE IR 7w w7 ooy gl
A) e B) 38R
C)gedrR D)Erd Fecmi
Answer Key : D
Question No. 11
The of the revolution of the planet around the sun is directly proportional to the cube of the
semimajor axis of the ellipse.
A)Square root of the time period B)Cube root of the time period
C)Square of the time period D)Square of the velocity
& & IRT AR 7E Hir qRemAT F Aniged & - 38T & e F WY IS S
A)aFgmaftr & aetHe B)qHUTE & HeHe
C)aaTEfer & gat D)3 & gav

Answer Key : C

Question No. 12
The earth revolves in orbit around the Sun in-
A)2 years B)1 year
C)3 years D)4 years

# qodft, gF & Ra: Fen F aRerAT F B

A)2 asf B)1 a¥
C)3 avf D)4 ast
Answer Key : B
Question No. 13
The escape velocity for a body projected vertically upwards from the surface of the earth is-
A)10.2 km/s B)11.2 km/s
C)12.2 km/s D)13.2 km/s

gl T Welg A oA WA IR AT Rl Rz o aar B
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A)10.2 frafiarFe B)11.2 frsfads
C)12.2 freids D)13.2 frefiads

Answer Key : B

Question No. 14
What is the relative density of a solid sphere that has a density of 3690 kg/m3?
A)4.69 B)3.69
C)6.69 D)8.69

3690 fram/AR Teica arr [T 3 e &7 3RS Teca FT gem?
A)4.69 B)3.69

C)6.69 D)8.69
Answer Key :B

Question No. 15

A

GET IT ON

Google Play

Two pistons of a hydraulic lift have a radius of 25 cm and 5 cm. What is the force exerted by the larger piston

when 50 N is placed on the smaller piston?
A)1700 N B)1550 N
C)1250 N D)900 N

TS grssifore Towe 6 ar e fir Bsar 25 J# 31k 5 @ §1 59 o RAead 9w 50 N @1 Jar § ar €3

fReT E@RT ST IR a4 g &7
A)1700 N B)1550 N
C)1250 N D)900 N

Answer Key : C

Question No. 16
The continuity equation is based on the principle of conservation of-
A)Mass B)Momentum
C)Vorticity D)Acceleration
A FHIEOT & TIOT % f¥gid W 3R g
A) ST ATA B)&aar
C)#fAear (Vorticity) D)caxor

Answer Key : A

Question No. 17

If two masses of 2 kg each are located at the points (2, 2) and (2, 7), respectively, then the centre of mass of

this two-body system will be at-
A)(2, 3.5) B)(2, 5)
C)(2, 4.5) D)3, 4)

afe 2 el & & geaae waen: Rigat (2, 2) 3R (2, 7) W Rua €, o 3w S-Riz yomehr 1 gemEe &

9 gl
A)(2, 3.5) B)(2, 5)
C)(2, 4.5) D)3, 4)
Answer Key : C
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Question No. 18
A truck driving on a road is decelerating at a constant value of 7 m/s?. If the car travelled at an initial speed of
49 m/s, then how much time and distance will it take to stop the car completely?
A)3sand 75 m B)7 sand 171.5m
C)9sand85m D)11 sand 185.3 m

HsH W Tl §U T g A A 7 m/s? & R A W 9l @ W@ {1 IR FR 49 mis Hr IRFE aer F
o g, o fhder T & 3R fhael g W FR QU e &% eefr?

A3 s IR 75 m B)7 s iR 171.5 m

C)9 s 3ik 85 m D)11 s 3R 1853 m

Answer Key : B

Question No. 19
The radius of a water pipe decreases from 8 m to 4 m. If the average velocity in the wider portion is 4 m/s,
find the average velocity in the narrower region.

A)9 m/s B)12 m/s
C)16 m/s D)24 m/s

T Ui & g9 Hr B #r 8 Mey ¥ g 4 Hiex aW ar | I O Ry wotma A 4 mss §, ar
HHIoT 87 FT ITT AT AT HL
A)S m/s B)12 m/s

C)16 m/s D)24 m/s
Answer Key : C

Question No. 20
Torque is equivalent to the-
A)Moment of force B)Friction of force
C)Thrust of force D)Elasticity of force
o fFa® ST g 87
A)RIAT 3iTH BT B)hereraT 31T BT
C)IFT 3’ By D)ganfEefaer 3% B
Answer Key : A

uestion No. 21

Which of the following is the unit of pressure?
A)Torr B)atm
C)Pascal D)AIl of the options
et F F -, qaT @ gfee 82
A)Torr B)atm
C)uresher D)faseul & & Tl

Answer Key : D

Question No. 22
Estimate the mechanical advantage, if 375 N force is needed to overcome a load of 750 N.
A)1 B)2
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C)3 D)4

Ifg 750 N & $IR T g 9 & fAT 3756 N o #T HaeTehar g1, ot JifAh S 1 HFAA T

A)1 B)2
C)3 D)4
Answer Key : B

Question No. 23
The expansion of PSLV is-
A)Polar Satellite Launch Vehicle B)Planetary Satellite Light Vehicle
C)Polar Saturn Light Vehicle D)Planetary Saturn Launch Vehicle
PSLV & qof &9 T 8?7
A)dieR Heorrse died el B)tolaiedl Heelse dise cdishol
C)uleR el osT SErehel D)caeedt et died el

Answer Key : A

Question No. 24
In nuclear power plants, electrical energy is generated by-
A)Combination reactions B)Nuclear fusion

C)Controlled fission D)Displacement reactions

AF G wAt H, Regd Fof frad @ et gl 87
A)TIST HATHIT B) SR Herde
C)ferafa awsa D)faTama sifffRant

Answer Key : C

Question No. 25
A collision is described as two-dimensional, if the initial and final velocities lie in a-

A)Plane B)Line

C)Curve D)Circle

afe gRffe 3R sifae aer fnedr # foua & ar duz & gR-ammh F w9 F aftta fear srar &1
A)FHATA (Tol=T) B)amssT

C)aF (Fd) D)acd

(4

Answer Key : A

Question No. 26
The law governing the force between two point charges is known as-
A)Ampere's law B)Ohm's law
C)Faraday's law D)Coulomb's law

ar fig smarit & Aew oo ARG Fe arer FEA A FT Fer S -
A)TEIRR # @gH B)3H &1 Fue
C)huE &1 g D)&eid 1 faas
Answer Key : D
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Question No. 27
Kirchhoff's voltage law is performed using-
A)Loop analysis B)Voltage analysis
C)Nodal analysis D)Mesh analysis

e 1 dieesr PaA fhad 3T ¥ fAar s §-

AyeT farearor B)dteeT faarwoT
C)airser faearor D)AY faeawor
Answer Key : D

Question No. 28
The differential form of Gauss'slawin the CGS system is-

VE-= £ g divE = p
gl

C) D)

V.E=4np divE = 4nc

CGS gutmely & aH & s &1 Fses &9 #3122

A) B)
ve=L gdivE = p
gl
C) D)
V.E =4 divE =4rnc

Answer Key : C

Question No. 29
The ratio of the inductive reactance to the capacitive reactance in an AC circuit is-
A)wLC B)LC

C)Zero D)w? LC
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Rt AC oy # SRt gfdend iR FenRa fderd &1 srgara = gem?
A)wLC B)LC

C)=a D)w? LC

Answer Key : D

Question No. 30

The magnitude of force betweentwo point charges q, and q, which are

separated by a distancer is given by-

A) B)
F= F =k|gq,|r"
r
C) D)
F= k(@] F= k ‘q£‘3':|
r r

gl r & s & g amet q, 3R q, % 7T 77 & TRAT F FA
e B smar 22

A) B)
p= i F=k|gq,|r’
.
C) D)
szp%%q” okl
r ‘ r-

Answer Key : D
Question No. 31

The proportionality constant (k) for air has a value of-

A) B)

9x 10°Nm?/ C? 8.85x 1012 Nm?/ C?

-8

GET IT ON
Google Play
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C) D)

8.85x 10'12C2/ Nm? 9x 10°C2?/ Nm?

A % HIataehar e (k) &7 AT &4 g g7

A) B)

9x 10°Nm?/ C2 885x 1012 Nm?/ C?-s

C) D)

8.85x 10-12(C2/ Nm? 9x 10°C?/ Nm?

Answer Key : A

uestion No. 32

The value of the permittivity of free space is-
A)9 x 109 NC2/ m? B)8.85 x 1072 Nm? / C2-s
C)8.85 x 10712 C2 / Nm? D)9 x 10° C? / Nm?
HqFd T F qUdegdis F1 AT 91 gieT 87
A)9 x 10° NC2 / m? B)8.85 x 1012 Nm2 / C%-s
C)8.85 x 10712 C2 / Nm? D)9 x 10° C2 / Nm?
Answer Key : C

Question No. 33

Each of the two point charges is doubled and their distance is halved. As a result, the force of interaction
becomes n times, where n is-

A)4 B)1

C)1/16 D)16

A fog At & ¥ gAF A GEET AT AT ¥ AR IR g0 e W I & oRomEEEsy, R
&7 & n AT & ST 8, STel n & AT 4T 87
A)4 B)1
C)1/16 D)16
Answer Key : D
Question No. 34
If the charge and distance between two charges are reduced to half, then the force between them-
A)Remains the same B)Increases four times
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C)Reduces four times D)None of the options

I ar 3maRlt & @ F andr AR g amh & Sv, A 3F g I arer T
A)TATT BT &l B)UR I[T & STl &
C)aR =T F& & Sl 2 D)fasedt & ¥ F1S T

Answer Key : A

Question No. 35
In which of these materials are the spins aligned antiparallel to one another below the Curie temperature
WITHOUT cancelling each other?
A)Paramagnetic materials B)Antiferromagnetic materials
C)Ferromagnetic materials D)Ferrimagnetic materials

3 & rg Al & o U gt W ' T Rer =/l avAe F AR o gy & sfasAsiay W@ g
82

A)JTgsehra aTaEad B)yideliegasha T
C)etedadr wm DR JmEh
Answer Key : D
Question No. 36
The Sl unit of electric field intensity is-
A)NC' B)NC
C)CN-" D)NC?
faega & &1 rgar #r S| gfae Far g2
A)NC1 B)NC
C)CN-T D)NC?
Answer Key : A
Question No. 37
The electric field of a system of charges does NOT depend on the-
A)Position of charges forming the system B)Distance of the point (at which the field is being

observed) from the charges forming the system
C)Value of the test charge used to find out the field D)Separation of charges forming the system

FmaRit $r yonelr 1 fege & e W AR T8 w87

A)BFCH FoTret arer Hmaelt & Fufad @« B)fFeH et arel 3wt & 37 fog f gt (B9 W
& T Hdellhel AT IT E/T 8) W
C)aTT & gl oemel & fow 3udier fhw s 3maer D)fAFeH = are el & gUeFHior I
q&TOT & AT U

Answer Key : C

Question No. 38
A field line is a space curve, meaning-
A)Field lines are not hypothetical curves B)Field lines are two-dimensional curves
C)Field lines are three-dimensional curves D)Field lines are straight lines
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87 X U T 9F ¢, sHE 7 HY 82
A)&TT Y@ gR&feud a% & gl B)&rT @ gfa-fad o g
C)ay @ R-fad aw €I D)&r¥ Y@y el 3@ g #

Answer Key : C

Question No. 39
Which of the following is NOT a property of field lines?
A)Field lines are continuous curves without any B)Lines of force never intersect each other
breaks
C)Field lines start at positive charges and end at D)Field lines form closed loops

negative charges

frafaf@a & @ =l ar a7 @i o 78 82
A)&TT (@I o e Thae & AT @ g §1 B)aer @ W@rd F3h o us @y i g1 Fredl o
C)81T @IT YalcHS 3TaA ¥ Y gl & AR FHomeAs D)&iT @I §g oy F=reh &

1A 9T AT B E

Answer Key : D

Question No. 40
The electric field created by a point charge falls with distance 'r' from the point charge as-
A)iIr B)1/r?
Cym D)1/

w fig e qE R Rege &7 Rig amer ¥ gt ¢ & @ R w9 ¥ Fiear §2
A)1r B)1/r2

C)1/r3 D)1/r

Answer Key : B

Question No. 41
When an AC current passes through a resistor, there is a dissipation of-
A)Joule heating B)Electrical energy
C)Power D)Both Joule heating and electrical energy

S T AC Fe el afaius & gl IR &, aF fhaehr &3 giar &2
A)STe gifear B)faega 3
C)ura’ D)3 &iféer 3R Rega 3o gt

Answer Key : D

Question No. 42
Capacitive reactance is inversely proportional to-
A)Frequency B)Capacitance
C)Voltage D)Both frequency and capacitance

wenfeirr sfeere R sgorAeaT g &
A)mafd B) &mRer

<

C)arecst D)3mgfea 3R aikar &=t
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Answer Key : D

Question No. 43
For AC voltage applied to a capacitor, the current is ahead of voltage by-
A)mi/2 B)mi/4
C)3m/4 D)

HUIRT 9T oENT 9T AC aleesl & AT, Fc diccsr A Rder 3mr gar &2
A)T/2 B)/4

C)3m/4 D)

Answer Key : A

Question No. 44
The unit of the Poynting vector is-
A)V/m B)W/m?
C)N/m D)N/C
it dwR Hr e w4 §2
A)V/m B)W/m?
C)N/m D)N/C
Answer Key : B
Question No. 45
Which of the following conditions regarding electrostatic potential 'V' is INCORRECT?
A)Must be zero if the boundary is earthed B)Must go to zero at infinity if charge distribution is
finite
C)Must be constant throughout any conductor D)Must be discontinuous across any boundary

Raegeredifass R V' & day # Fosaiee & § #i @ fuf Toa &2

A)afg T -wufda § o 38 e g AR B)afe 3mder fARor WA & @ 3dd W 30 I W
ST FTfRT
C)fee st arors & TR g =feul D)fereT off T & 9R 3@ HAAd glelm A1y
Answer Key : D
Question No. 46
An inductor is connected to an AC source. When compared to voltage, the current in the lead wires-
A)ls ahead in phase by 1 B)Lags in phase by 1
C)ls ahead in phase by 11/2 D)Lags in phase by 11/2

T 9, T AC Fd ¥ 3T §3 ¢ deest A Jorem A, g anT H Fle-
A)TROT & 1 A T g gl B)=RoT & m ¥ Moz Jrar g
C)TRUT & /2 & 3mar v &1 D)y=Ror & /2 ¥ e Jar gl

Answer Key : D
Question No. 47
The quality factor is also a measure of-
A)Current magnification B)Voltage magnification
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C)Resistance magnification D)Conductance magnification
U FREF FT o v AT ¥
A)Fe aY B)ateest gt
C)uferIeT el D)aTelshea AHTael=
Answer Key : B
uestion No. 48
What is an equipotential surface?
A)A surface having a zero potential B)A surface having a positive potential
C)A surface having a negative potential D)A surface which has the same potential at all points
HATHT (equipotential) HaE T £7?
AT faere arell | B)uaTcAsh fa¥a drell dde
C)FHuTcA® 39 arel Tde D)ush @cig foraehr @l g3t w @a fasa g g1

Answer Key : D

Question No. 49
Which of the following is NOT a property of electromagnetic waves?
A)They do not require a material medium to B)They can be superposed
propagate
C)They cannot be diffracted D)They do not contain any particles

frfaf@a # ¥ Fia-ar Rega deh av@lt & aor a8 82
A3 FaR F faw e sifas aeas 61 smavasar B)3es gudls fFar o aar g

el gl g
C)3+¢ Taafard =gt fFar ST wehaT ¥ D)g# Ig &1 AT 8 &l
Answer Key : C
Question No. 50
Three resistances 11 Q, 20 Q, and 12 Q are connected in series. Their equivalent resistance is-
A)45 Q B)42 Q
C)34 Q D)43 Q

olter gfeiet 11 @, 20 Q 3R 12 Q TF sf@el # 3 §U §| 39 FAGed TR fhaem gem?

A)45 Q B)42 Q

C)34 Q D)43 Q

Answer Key : D

Question No. 51

A particle in simple harmonic motion while passing through mean position will have-

A)Maximum kinetic energy and maximum potential B)Minimum kinetic energy and minimum potential
energy energy

C)Minimum potential energy and maximum kinetic D)Maximum potential energy and minimum kinetic
energy energy
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Ay Ul § @I e TR W A AT arel Hor A 4T gren?
A)FfEwaR aifas Feit 3R sftsaa Rufas s B)=g=ia# atfast Feit 3R wgeian eufasr o
C)rgeian fEufasr 3ot 3k wftwaw aifasr e D)3rftsras Fufdsr Fat iR sgeraa aifasr s

Answer Key : C

guestion No. 52
In a stationery wave, the distance between any two consecutive nodes is equal to-
AN2 B)A/4
C)2A D)A/3

R T 3, Rl o @ TR g & AvT ) g Rewd SR g
A)N2 B)N4

C)2A D)A3

Answer Key : A

Question No. 53
The quality factor of a damped oscillator is inversely proportional to-
A)Energy B)Damping factor
C)Distance D)Resistance

JaAfed gelsh HT IUMdccl FRb fhash YohAEIIC gidT 87

A)FST B)3{aHecd HRE
C)glr D)ufaRier
Answer Key : B
Question No. 54
When an oscillating system is driven by a periodic force that is external to the oscillating system, then it is
called-
A)Damped oscillation B)Free oscillation
C)Forced oscillation D)None of the options

39 gIelel YUTTel T AT Hel ATl § oI 39 alelel YUlell & STgY & (&l HMacT gof SaRT Tl STl &2

A)3aARRT greet B)HFd are=t
C)uunfed arere D)fawredl 7 & +is 18T
Answer Key : C

Question No. 55
A spherical wave is-
A)Zero dimensional B)One dimensional
C)Two dimensional D)Three dimensional
TMATHR TET AT §?
AT ITATH B)Us 3marr
C)gfa3marT D)RA3marer

Answer Key : D

Question No. 56
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The waves, in which the particles of the medium vibrate in a direction perpendicular to the direction of
propagation of the wave, are known as-

A)All of the options B)Transverse waves

C)Longitudinal waves D)Magnetic waves

3 ORI B FIT FgT AT & AN ACITH &F HUT a9 & FERK hr 2w & saaqd @ F F9a i 87

A)fawedl F & T B) 39 EY 3T
C)3eed asdr D)deshrr addr

Answer Key : B

Question No. 57
The product of the phase and the group velocities is equal to-
A)Twice the speed of light B)Speed of light
C)Half of the speed of light D)Square of the speed of light

wor 3R T 9t T Ao Rred s g 82

A)geRrer Y atfd T ERTET B)eprer & arfa
C)aahrer &r arfa &r mer D)srprer & arfar &r aet
Answer Key : D

Question No. 58
Beats are the result of-
A)Diffraction B)Refraction
C)Superposition of two waves of nearly equal D)Reflection
frequencies

e fFad IRumREET B €2
A)faada B) 319adie
C)eleTstaT THT Tgfccidl @I a7 et T EIRTT D)IRrad=t

Answer Key : C

Question No. 59
When the light diverges from a point source, the shape of the wavefront is-
A)Spherical B)Elliptical
C)Circular D)Hexagonal

o yerer g Fid & Rafad @ Siar §, a S # 3ER =247 g §?

A)TNSTHR B)&re gearh
C)gcdrshR D)¥eahofg
Answer Key : A

Question No. 60
Two sound waves having a phase difference of 60° have a path difference of-
A)2A B)A/6

C)3A D)A/2
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60° & TROT 3fc] arelr & tafey i@t F Rraar o 3a¥ gem?
A)2\ B)A/6
C)3A D)N2
Answer Key : B

Question No. 61
How many lenses are used in Fraunhofer diffraction?
A)1 concave lens B)No lenses are used
C)2 convex lenses D)2 concave lenses

Wit Racier & R ofat & 3aer R sar &2

A)1 3add o F B)fereT o\ &1 39T Fgr fRar Srar
C)2 3cad o D)2 3add o

Answer Key : C

Question No. 62
What should be the phase difference between the two plane-polarized waves, vibrating at right angles to each
other, to produce circularly polarized light?
A)Ti/4 B)m/3
C)m D)m/2

ar FATA-YAPd aEI & HET TROT HAR FAT B AMeT S IMAPR elighad PRI 39t e & AT Th-g@r
& GHASIOT 7 HIA A 87

A)Ti/4 B)1/3

C)m D)m/2

Answer Key : D

Question No. 63
The phenomenon of polarisation shows that the light has a nature.
A)Dual B)Transverse
C)Longitudinal D)Electromagnetic
T i TeaT St Fh & Rr SR B R A &1
A)Tgdr B) AT
Ot D) e
Answer Key : B

Question No. 64
He-Ne laser is a type of-
A)Solid laser B)Liquid laser
C)Gas laser D)Diode laser
He-Ne eR e 9 &2
A)3E St B)aXdl olsiX
C)3F o D)3l ool

Answer Key : C
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Question No. 65
The resolving power of the grating is independent of-
A)The grating constant B)The order of the spectrum
C)The total number of slits on the grating D)AIl of the options

Afder r Ruea afFa e & T@daT & &-
AT R B)¥IFH FT FH
C)aféar ax feeret it Fer HEAT D)faeredt & @ @l
Answer Key : A
Question No. 66
The correlation of light wave's phase at different points along the direction of propagation is called-
A)Fresnel diffraction B)Temporal coherence
C)Spatial coherence D)Fraunhofer diffraction

HAROT T R & EfeRr R Reg3it | arr oaler & WoT & FeHaY HI AT FEl AT §7?
A)haarer faade B)aifie Tagar (Temporal coherence)
C)rurfas FHer Tagdr D)sFT3=aIeR g

Answer Key : B

Question No. 67

In Fraunhofer diffraction, the source of light and the screen are placed at a/an distance from the
obstacle.

A)Large B)Very small

C)Infinite D)Zero

TR Rader &, garer & Ed 3R BRI & ey gl 9 I@T S B

A)3f8s B)aga &

C)3=d D)eeT

Answer Key : C

Question No. 68
The periodic time of a body executing SHM is 2 s. After how much time interval from t = 0 will its displacement
be half the amplitude?

A)6 s B)1/3s
C)112s D)1/6 s

SHM fAsurfea e arer U3 & Had §7T 2 s g1 t=0 & fhdsy §H9 AU & 916 SHHI [QTAT9=, HTH &0
Jmar gam?

A)6 s B)1/3 s

C)1/2 s D)1/6 s

Answer Key : D

Question No. 69
What is the period of oscillation of a mass of 40 kg on a spring with constant k = 10 N/m?
A)4 1 seconds B)6 1T seconds
C)12 1 seconds D)2 1 seconds


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal2417) A Eodle pay

BT k = 10 N/m & a9 & &0 9X 40 e gegae & grea afer &= gem?
A)4 T @Fs B)6 m Hhs

C)12 m &&s D)2 m @Fs

Answer Key : A

Question No. 70
Two vibrating tuning forks produce waves whose equation is given by y, = 5 sin(2601rt) and y, = 4 sin(252mt).
Compute the number of beats per second.
A)20 beats per second B)4 beats per second
C)6 beats per second D)15 beats per second

ar HUTIATA TY[AN B qET IcUewd FA § foreddl AT y1 = 5 sin(260mt) 3R y, = 4 sin(252mt) g@RT
e = &1 wia ¥ diew fr T i e F)

A)9Ta T3 20 dicy B)uid ¥z 4 dicy
C)ufa ¥Fs 6 dcH D)ufa @z 15 dicH
Answer Key : B
Question No. 71
If the frequency of the driving force is equal to the natural frequency of the system, then what will occur?
A)Simple harmonic motion B)Damped oscillation
C)Resonance D)Diffraction

A W T F g womelr Fr wiFfaF gfed F e gl & @ /v wre gen?
AT 3ad Ifa S ECLIEGRARDH

C)3re D)faarcter

Answer Key : C

Question No. 72
Consider two sound waves with wavelengths 5 m and 6 m. If these two waves propagate in a gas with velocity
330ms™, then calculate the number of beats per second.
A)23 B)5
C)10 D)11

5m AR 6m aRed arelr & tafs et W fFER w1 af 3 et a6t 330ms! dor @ A\ # Fedr § At
yfa ¥z fica i d&ar i o wi

A)23 B)5

C)10 D)11

Answer Key : D

Question No. 73
A particle executes SHM of period 8 s and amplitude 4 cm. Its maximum acceleration is about-
A)1%/4 cm/s? B)11/3 cm/s?

C)2m cm/s? D)3 cm/s?

TH FT 3a™ 8 s 3R 3 4 A Fr SHM fasurfea Ftar §1 s0aFr AR FaH @RoT T rdar gem?
A)m2/4 JHR2 B)/3 TH/A2
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C)2m a#a? D)y a2
Answer Key : A

Question No. 74

The relation between group velocity and phase velocity is
mathematically given as- (where v, = phase velocity,
vg = group velocity, and A = wavelength)

A) B)
vV =V —ﬁ V.=V, _—2 a5
PTE g 'p 5
C) D)
dv v
Vp-Vg—?\.a—p- Vp:vg—d;

FHE 39 AR wrawr A & & F@aw Ao 9 F ¥ fmm e 2
(STET v, = TTaET 3T, v, = Wog 397, 3R A = 7 aeF §1)

A) B)
dv dv
vp=vg—d—; v, =V —A P
C) D)
dv v
—v - I - | — A
Vp Vg Kdl xp_vg a

Answer Key : B

Question No. 75
Which of the following is a type of gauge bosons?
A)Photons B)Z bosons
C)Gluons D)AIl of the options

Afaf@d & @ #la a1 A AW FT TF IHT 82

A)PreT B)Z arafa
Cyrate D)Re ¥ ¥ wE

Answer Key : D

Question No. 76

Which force holds together the quarks that make up the protons and neutrons?

A)Weak force B)Strong force

GET IT ON
Google Play
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C)Electromagnetic force D)Gravitational force

FieT-AT T Wiei W gghaT a=le arel FaF FY U WY S @& 87
A)FHASAR dof B)HASIEd sl
O)fdega gehrg aa D)3r&carsyor aef

Answer Key : B

uestion No. 77
The spin of an electron was first detected in which of the following experiments?
A)Stern—Gerlach experiment B)Davisson—-Germer experiment
C)G.P. Thomson experiment D)Michelson—Morley experiment

AT # & 5T w9 & ggell R U Soacle $r U« HT IaT =T -7 917
A)TeA-3ReTE TA9T B)3REa-sieR uer

C)G.P. ufaEa ST D)ATSHerd Aol FT
Answer Key : A

Question No. 78
The amount of splitting is characterized by a dimensionless constant called the-
A)Planck's constant B)Boltzmann constant

C)Fine-structure constant D)Universal gravitational constant

faoTster & AT A TF AT RIS q@RT AT ST § O Fr Fer S 82
Ao fERis B)diecorda R
C)8r-8a=T T+ D)&rasiiiie Tecarmyur fFris

Answer Key : C

Question No. 79
Which of the following is a property of the wave function with respect to Schrodinger's equation?
A)W must be finite B)W must be continuous
C)W must be single valued D)AIl of the options

AN & FHIIT & Too # Ae=fafl@d # § T T T Garred H 0T §7?

AV =t aRfaT &= kTl B)Y & fATaX gl @ifgvl
C)¥W T HAIA Uehol glT AIRT| D)fasredl 3 & @l
Answer Key : D

Question No. 80
If uncertainty in position is less, then uncertainty in momentum would be-
A)Small B)Large
C)Same D)None of the options

IR Rufa & sfARaaar #7 8, ar daer & sfARadar = gef?

A)Eﬁ"lff B)&sr

Cyaa D)Rwedl & & S &
Answer Key : B
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Question No. 81
What is the S.I unit of activity?
A)Joule B)Ampere
C)Becquerel D)Candela

afafafe $ S I = ¥?
A B)TFiRIT
C)dsta D)daelr
Answer Key : C
Question No. 82
Which of the following CANNOT be used to explain the superconductivity of Type-Il superconductors?
A)BCS theory B)Quantum theory

C)Gauge theory D)Superstring theory

mﬁﬁmmm-llmﬂmﬁwmﬁﬁvaﬁmm
e 87

A)BCS fgia B)eFaieH Rgid
C)rst Rgica D)ygRiEer e
Answer Key : A
Question No. 83
The charge of alpha particles is-
A)7 B)3
C)5 D)2
T U T 3T T Bl 87
A)7 B)3
C)5 D)2
Answer Key : D
Question No. 84
The uncertainty principle is more prominent for-
A)Powdered particles B)Vapours
C)Microscopic particles D)None of the options
HAReaar Riga fFes Qe sifts v
A)TIfoTe For B)arsq
C)geHeeft Hor D) &sheal F & #IS AdT
Answer Key : C
Question No. 85
Which of the following obey Pauli's exclusion principle?
A)Photons B)Mesons

C)Deuterons D)Fermions
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faf@a 7 @ $is 93 F g Rgia T Irele FITm 872
A) P B)Ag=H
C)zagicH D)y AT

Answer Key : D

Question No. 86
Any wave function can be written as a linear combination of-

A)Numbers B)Eigen functions
C)Eigen vectors D)Operators
Y ofr oA W Y & V& wdioe & §9 & fo@r ar @& gl
A) T3 B)SoieT HeareleT
C)gataT daFex D)3y
Answer Key : B

Question No. 87
How many leptons are negatively charged?
A)3 B)6
C)5 D)2
el e RUIcH® ¥9 ¥ 3T gia 872
A)3 B)6
C)5 D)2
Answer Key : A

Question No. 88
Charged particles in a cyclotron accelerate away from the centre along a-
A)Zig zag path B)Straight path
C)Spiral path D)Hexagonal path

argFgla 3 ARG For HE & Ty Fg F T A0 F eI 72

A)fSarster o B)der 9y
C)¥arge 92 D)seshrofa g
Answer Key : C
Question No. 89
Raman spectroscopy is a technique which provides detailed information about-
A)Chemical structure B)Crystallinity
C)AIl of the options D)Molecular interactions

A VTR T W Thellh & S P aR F REgd SI9aRT Teie HRer §?
AT AT B)fshecelerdr

C)asedt & & @sfr D)3nfOass 3a:fehar
Answer Key : C

Question No. 90
In the mass spectrometer, the sample which is to be analysed is bombarded with-
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A)Electrons B)Protons
C)Photons D)Neutrons

A FWFIA #, o et &1 faevor fFar S § 38 W e awerd i ol 82
A)gorFeT B)sieit
C)mret D) gier

Answer Key : A

Question No. 91
The element with the least mass per nucleon is-
A)Thorium B)lron
C)Lithium D)Helium

gid ~gfFerdicl Tl FH FedAle aTell ded il §7?

A)aiRzA B)aier
C)fafma D)grferzar
Answer Key : B

Question No. 92

During the nuclear fusion process, are liberated.

A)Neutrons B)Photons
C)Positrons D)None of the options
ARRT Forger wihar & R, HqFT B &

A)7ggiet B)wieis

C)uiforere D)ot & & S 8

Answer Key : C

Question No. 93

In the Compton effect, individual photons collide with that are free or quite loosely bound in the
atoms of matter.

A)Gamma particles B)Beta particles

C)Alpha particles D)Single electrons

i Ysd A, safadera wrele ¥ e § S 9o F RAVET F w7 ar T ¥ w7 F 99
g &l

A)3TAT SHOT B)&er sor

C)37ewT HoT D)Ushel SolFglel

Answer Key : D

Question No. 94
Which is known as the lightest meson?
A)Pion B)Kaon
C)Eta meson D)Upsilon particle

e gohl RET Y FeT S1ar 872
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A) e B)&r3iT (Kaon)
C)uer AT D)319f&ell FoT

Answer Key : A

Question No. 95
Which term in the semi-empirical mass formula is associated with Pauli's exclusion principle?
A)Surface energy term B)Asymmetry energy term
C)Coulomb energy term D)Volume energy term

HA-ofPaRee A T FlT T Aea IH F Hodee Reia & ST G 7
A)TAE Foll el B)3ATATY ST 2reg
C)Foia Fatl Aeq D)3 Ide FaiT e
AnswerKey:B

Question No. 96
A car accelerates in a straight path from 55 m/s to 65 m/s in 5 seconds. What will be the acceleration?
A)0.5 m/s? B)2 m/s?
C)10 m/s? D)15 m/s?

TF FR A TE W 5 AFT & 55 m/s A 65 mis TF AR gy &1 TGO =T Qe
A)0.5 m/s? B)2 mi/s?

C)10 m/s? D)15 m/s?
Answer Key : B

Question No. 97
The de Broglie wavelengths of the electron waves in two orbits are in the ratio 1 : 3. The ratio of the kinetic
energy of electrons will be-
A)9:1 B)1:3
C):9 D)3:1

o 3iificw 3 gl o B 2 AT T G 1 : 3 F g * § s B AT FAr FT I T
gram?

A)9 : 1 B)1: 3

C)1:9 D)3 : 1

Answer Key : A

Question No. 98
The Schrodinger time independent equation can also be written as-
AHY + EW =0 B)HY = (E- V) ¥
CHY-E¥=0 DEW=0

AP TAT FaaT FAOT H 3R 7 gaR o@r S aar 82

AHY + EW = 0 B)JHW = (E - V) W
CHY - E¥ = 0 D)EWY = 0
Answer Key : C
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The de Broglie wavelength of a tennis ball of mass 60 g moving with a velocity of 10 m/s is approximately-
(Planck's constant h = 6.63 x 1034 J s)

A)1.1x1038 m B)2.208 x 10 m

C)3.35x 103 m D)445 x 1033 m

10 m/s & AT & WY QAT 60 g FSIAA arell Tah AT g T 3 FeTell TERES T Thdar aar &2
(vl @7 TRRi® h = 6.63 x 10 J s)
A)1.1 x 1033 m B)2.208 x 1033 m

C)3.35 x 103 m D)445 x 1033 m
Answer Key : A

Question No. 100

A refers to the energy difference in semiconductors between the top of the valence band and the
bottom of the conduction band.

A)Band gap B)Conduction gap

C)Valence gap D)AIl of the options

o ¥z & MY R Fewe ds F e d9T F v FAEET A Folt A @ guUiar B

A)dz T B)aTeled 3cRTer
C)derd R D)fasredt & & @l
Answer Key : A

Question No. 101
Good conductors have many loosely bound-
A)Molecules B)Atoms
C)Electrons D)Protons
I Tl F FE IR w9 ¥ 99 g €l
A) 3T B)TR#T]
C)geterglel D)shet

Answer Key : C

uestion No. 102
Which of the following has the widest energy gap?
A)Semiconductors B)Conductors
C)Superconductors D)Insulators

AT & & el e 30F Foft iR gxar 87
INECBIEE ) SEIGE
C)3rferare D)Rrezgerert

Answer Key : D

Question No. 103
Which of the following is doped with germanium for making a P-type semiconductor?
A)Nitrogen B)Phosphorous
C)Gallium D)Copper
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P-yR AdsFX o9 & T P=fa@a & ¥ Faer sdf@es & gy 9RT o 82
A)FTSgISTe B) BTERIRE

C)dferaA D)&ra

Answer Key : C

Question No. 104
Which of the following diodes uses three layers?
A)P-N junction diode B)PIN diode
C)Zener diode D)Photo diode

farfaf@a & & i 1 s/ e Gt & sEaATe Har §?

A)P-N S s/ B)PIN =g
C)dieX 38 D)®Ier s
Answer Key : B

Question No. 105
Which of the following has a negative temperature coefficient of resistance?
A)Diode B)Sensistor
C)Thermistor D)Capacitor

fArfaf@a & @ e 9faly &1 RoncAs® d9aE o giar 8?2

Az B) e
C)afiwex D)&enRT
Answer Key : C
Question No. 106
A Zener diode when biased correctly-
A)Has a constant voltage across it B)Never overheats
C)Has a constant current passing through it D)Acts as a fixed resistance
IR 3RS IF TE T W IES B B-
A)dr 38% TR IR T &R dlees 81 &l B)saft ST IR SEr g &
C)ar 38 & vs fRaX arr garfea g g1 D) Tk AT 9faYr & F9 & FF Far B

Answer Key : A

uestion No. 107
Which of the following is the CORRECT current equation in a common emitter transistor?
Allg=Ic+ g Blle=lc—1Ig
Cllg=Ic+Ig D)ic=Ilg+Ig

T FiAT AT cifarer # Rfaf@a # & #ia a1 9 & gawor §?
Alg =1c + Ig B)le = lg - Ig
Clg =lc + Ig D)lec = Ig + Ip

Answer Key : A

Question No. 108
What is the voltage gain of a transistor connected in common collector arrangement?
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A)Equal to 1 B)Less than 1
C)More than 10 D)More than 100

FIHe Feldel oAUl A F[3 foIeT FT dlecst T 4T g §?
A)1 & ST B)1 & &
C)10 & 3fa= D)100 & 3o

Answer Key : B

Question No. 109
How many diodes are used in a full-wave three-phase uncontrolled bridge rectifier circuit?
A)Four B)Ten
C)Eight D)Six

Teh QUI-RET dle-thd JHfad i fier MFewrR dfhe # fhdel S/ &1 SedaTel &har ST 82
A)ar B)gd

C)3me D)sg

Answer Key : D

Question No. 110
What is the angle of conduction of class A amplifiers?
A)270° B)360°
C)0° D)180°

FAH A TFEIRIGRRT HT HoT HIT e glar 82

A)270° B)360°
C)o° D)180°
Answer Key : B

Question No. 111
What is the horizontal scanning frequency in a 625-line television system?
A)60 Hz B)15750 Hz
C)15725 Hz D)15625 Hz

TF 625-aT5 Tenfastar womer # afasr Thfeler amgfea fhaeh g 82
A)60 Hz B)15750 Hz
C)15725 Hz D)15625 Hz
Answer Key : D

Question No. 112
The output of a two-input NOR gate is high-

A)Only if both the inputs are low B)Only if both the inputs are high

C)If at least one input is high D)Only if one input is high and the other is low
&-319¢ NOR 3T & 313eqe 3= g &-

A)afE dael gt gaqe @t gid gl B)afe daer aldl saqe 3w gid ¢l

C)afe && @ FH UH gaAYc e gl 2| D)afe Fae vs e 3=4 giar & AR gEwr e
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Answer Key : A

Question No. 113
A crystal oscillator provides a very stable frequency because of the-
A)High stability of the crystal B)Rigid crystal structure
C)Low X /R ratio of the crystal D)High Q of the crystal

T freed iR fRe & FRoT aga FR amgfeT &ar &7
A)frEee &1 3Ta fERar B)FaR fohecd dX@s
C)fsrEeer &1 & X /R 371 D)fsrEcer T 3T9 Q

Answer Key : D

ion No. 114
A power amplifier gives 150 W output for an input of 1.5 W. The gain in dB is-
A)20 B)10

C)40 D)100

TH JaY WG] 1.5 W & T $aqe & faw 150 W 3m3eqe &ar ¢1 dB # gfe fraem giar 87

A)20 B)10
C)40 D)100
Answer Key : A
Question No. 115
An increase in diode voltage leads to-
A)lncrease in diode resistance B)No change in diode resistance
C)Decrease in diode resistance D)increase or decrease depending upon the nature of
diode
IS At # gfE F R @ 82
A)zrirs gfeRrer # afg B)sritg gfeRier & I qRadel =1er
C)zrats ufeRier & e D)srs & FHfT F UK W gfE A FAr

Answer Key : C

Question No. 116
The process of applying an external voltage to a P-N junction semiconductor diode is called-
A)Biasing B)Diffusion
C)Scattering D)Amplifying

P-N Siwere didsaey S/l W e dlecst @] (e 1 SiHar H 41 FgT AT 87

A)srafder B)fa@zor
C)wehroTe D)yaties
Answer Key : A
Question No. 117
The transistor acts like a when operated in cut-off and saturation regions.
A)Linear amplifier B)Switch

C)Variable capacitor D)Variable resistor
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Fe-3w AR Tt &t F danfoa @9 W giforeex T TE FHA T ¢
ANRF TFTRRR B)feawr
C)aRadaar ey D)gRadr gfaRites

Answer Key : B

Question No. 118

The SCR is in the forward blocking region.
A)Reverse-biased B)In the ON state
C)In the OFF state D)At the point of breakdown
BRas saffher &7 & SCR _____ @ &l
AREE TS B)ON 3raEar &
C)OFF 3/a&ar # D)shsr3al fdeq
Answer Key : C

Question No. 119
The majority charge carriers in a P-type semiconductor are-
A)Electrons B)Protons
C)Holes D)Neutrons

P-wa?mwmﬁagﬁmﬁmmwaﬁ??

A)goergle B)gieial
C)gier D)=l
Answer Key : C
Question No. 120
A P-type semiconductor has a/an at room temperature.
A)Large number of holes and a few electrons B)Large number of free electrons and a few holes
C)Equal number of free electrons and holes D)No electrons or holes
FAY & AGA W P-YFR & JHERsFT 7 gar &l
AT e # g 3R Fo gerTeld B)SST WEAT & HFT gl IR Fo B
C)HFd gosgial 3R et i Faer dea D)#IS off saaela a1 g A8

Answer Key : A

uestion No. 121
Which part of a transistor is heavily doped to produce a large number of majority carriers?
A)Base B)Emitter
C)Collector D)None of the options

T HEH H TEHEAF e Yol F & AU gfoe & FF T i Al A A S0 R S 87
A)dH B)u#teY
C)aFarFet D)fawedt F ¥ P A&

Answer Key : B

Question No. 122
Avalanche current in the P-N junction flows in the circuit when the biasing is-
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A)Forward B)Reverse
C)Zero D)Excess

P-N SiaRle # Vgeled @c Afhe H dd Yalfgd il § o9 STaTaeT 41 gidr &7
A)BREs B)Raw
C)a D)ag?raﬁ?m

Answer Key : B

Question No. 123
The temperature coefficient of resistance of a semiconductor is-
A)Zero B)Constant
C)Positive D)Negative

U Yefihseaed & YR & A9l IOl 41 gl 8?2

AT B)f&R
C)uarcHs D)*®UTcHsh
Answer Key : D

Question No. 124
Which of the followingis NOT equalto A in Boolean algebra?

A.A A+A

C) D)

s
-
p
+
=l

gfoa fieeiog # Feafef@a & @ Fia a1 A% sust F67 272

A.A A+A
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Answer Key : C

Question No. 125
Which of the following represents the commutative law in Boolean algebra?
A)A+AB B)A.B+C)=AB+AC
CA+B+C)=(A+B)+C DJA+B=B+A

e AN ¥ BT 3 ¥ FT AR P R e 2

A)A + AB B)A.(B + C) = AB + AC
CA+ (B +C)=(A+B)+C DA +B=B+A
Answer Key : D

Question No. 126
The first law of thermodynamics is based on the-
A)Law of conservation of linear momentum B)Law of conservation of energy
C)Law of conservation of angular momentum D)Law of conservation of mass

FeATITASr &1 dgar Agd Fa av 3maRa 82

AXTEF HIT & TIEOT & Fae B)FST TIETUT & oI

C)ahIofg Eae1 & EIETT & HgH D)geaH & &0 & fAgH

Answer Key : B

Question No. 127

According to Kelvin-Planck's statement of the second law of thermodynamics-

A)lt is possible to construct an engine working on a B)It is impossible to construct a device which operates
cyclic process, whose sole purpose is to convert in a cyclic process and produces no effect other
heat energy into work than the transfer of heat from a cold body to a hot

body

C)lt is impossible to construct an engine working on a D)None of the options
cyclic process, whose sole purpose is to convert
heat energy into work

Ffeaa-cola & AR & gy PR & FU9 & IHJaR-

A)TRIT UTRIT R FTH R aTe R S5 @7 AAToT B)O® 3usRor 1 [AATT e yHeT g S b ufthar
garg g, fOUaT UHATT 322 FSAT Foll A T A F FT Far @ AR 2 S & et e F ot &
afRafda & g FEATAROT & 3HeIaT Hs TTd Je1 AT e &l

C)Tshrg UTshaT 9T FIH ael alel So1ed T AT T D)@l & & IS Aar
IGHT &, T THATT 3T FEAT Foll F F F
gRafda & g

Answer Key : C

Question No. 128
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The temperature at which the volume of a gas becomes zero is called the-
A)Absolute zero temperature B)Critical temperature
C)Fermi temperature D)None of the options

a6 dIA 8 W A T HEAT YT Y ST §, T Fgelral §7

A) AT T aTaATe B)shifdeh dTgATT
C)wst arA= D)fasedl & & FI3 Al
Answer Key : A

uestion No. 12
The entropy of an isolated system can NEVER-
A)lncrease B)Be zero
C)Decrease D)Be infinity
T faaf@a gomelr $r veerdr Fsir s g
A)FE Tl gl B) & |l B
C)ae Ferdlr B D)37eic 8 Hhll g

Answer Key : C

Question No. 130
If the temperature of the source is increased, then the efficiency of the Carnot engine-
A)Becomes zero B)Increases
C)Decreases D)Neither increases nor decreases

Ife G T I9AT T AT ST A Fefe Sl 1 ETdI-
AT & ST B B)Fgdr 8l
C)aecT &l D)7 & s&dr g 3R o gedr gl

Answer Key : B

Question No. 131
The efficiency of the Carnot engine is-

A)1 + temperature of sink / temperature of source B)1 + temperature of source / temperature of sink
C)1 - temperature of source / temperature of sink D)None of the options
Al SoleT & ST 4T gt §7
A)1 + 8% & argAT= / S FT argH = B)1 + BT & aAT / f&F &1 JraA=T
C)1 - AT T agAT / & &1 argAe D)fasheal 7 ¥ HS 78
Answer Key : D
Question No. 132
The thermodynamic scale of temperature is based on the-
A)Transformer B)Carnot engine
C)Energy D)Mass
AGHT HT AR FATAT 9 HaiRa Bl

A)TTEHAT B)&FTifc Saie
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C)Far

Answer Key : B

D)geaaTe

Question No. 133

The isothermal process can be represented by which law?

A)Faraday's law
C)Ohm's law

aAarE Stk e gd garT aeifar S asar 87

AT F fFTH
C)3\ ¥ A
Answer Key : D

B)Lenz's law
D)Boyle’s law

B)eleot & fage
D)sTaer & fags

Question No. 134

In an adiabatic process, which of the following remains constant?

A)Pressure

C)Temperature

B)Total heat of the system

D)Volume

e TersH ufshar 1, ffaf@a & & Fla-ar TR WEar 82

A)gsTa
C)arg#T=t
Answer Key : B

Maxwell's fourth equation is based on-
A)Gauss's law in magnetostatics

C)Ampere's law

Hegad &1 atyr gHEeor g o amaRa 82
AyFTaerEteaw & oty & Aaw

C)tFriRR & faT#H
Answer Key : C

A
a.__L
dP  T(V,-V,)

©)

P L

dar 1, -V,

B)f&¥ecH #1 FoT AT

D)3madet

Question No. 135

B)Gauss's law in electrostatics

D)Faraday's law

B)sacetfeaw # aifw & fraw

DT & frgm

Question No. 136
The Clausius—Clapeyron equationis given by-

B)
LA
ar 1(v,-V)

D)

Y
dP LW,V

GET IT ON
Google Play
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A) B)
a___L LA
P T(V,-V,) ar TW,-V)
C) D)
AN, a___T
dar T(V,-V,) dP LWV,-V,)

Answer Key : B

Question No. 137

The locus of all points at which the Joule-Kelvin coefficient is is known as the inversion curve.
A)Infinity B)Zero
C)Negative D)Positive

3 welt RigHt 1 Riguy e W Ser-Ffeas qons ¢, SgGPH % & ®9 7 T S gl
A)Hed B)e

C)®UIcH® beircy

Answer Key : B

Question No. 138
The molecule of a monoatomic gas has only three translational degrees of freedom. Thus, the average
energy of the molecule at temperature T is-
A)3/2 KgT B)2 KgT
C)3 KgT D)5/2 KgT

T ThHARANGH A9 & 3] A Fad e TR Tag HIfE gl §1 39 96K, d9a« T | 3] #r

Aaa FST BFaer gefre?
A)3/2 KgT B)2 KgT
C)3 KgT D)5/2 KgT

Answer Key : A

Question No. 139
According to Wein's displacement law, the wavelength corresponding to maximum energy is to
the temperature of the body.
A)Equal B)Directly proportional
C)Inversely proportional D)Independent

de & REe Waw § FqER, 3RFaH S F @aa T $6, a1 & auAe & gt Bl
A)TeX B)HY 3MeTanfceh
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C)egcshTeaTclT D)EacT

Answer Key : C

Question No. 140
The mean free path of the molecule of a gas is-
A)Directly proportional to twice the molecular B)lnversely proportional to the square of the molecular
diameter diameter
C)Directly proportional to the square of the molecular D)inversely proportional to twice the molecular

diameter diameter
forelt e & 3rop 1 AT HET Ty g &
A) IO T8 & Qe & HIY Heqdrfas B)3mmotfaess sard & @t & SgehAIIT
C)3moras =ard & &1 % €Y urfas D)3 = & SN[ & cgcshataldrel

Answer Key : B

Question No. 141
The region at which the Joule-Kelvin coefficient is negative is called the -

A)Heating region B)Cooling region
C)Gaseous region D)None of the options
ag &7 5181 S[el-Shfede UNH HOMHS g &, ___ SgolraT g
A)@IfEeT e B)efde= &1

C)irdr &7 D)fashedt # @ #Ig e

Answer Key : A

Question No. 142
According to the Stefan-Boltzmann law, the total radiant heat power emitted from a surface is proportional to

the power of its absolute temperature.
A)Half B)Third
C)Fourth D)Fifth

Wnd-diecedd & e & 3aRr, R g5 @ sfa Fo Rl @ g 3w TRoe e
U’ & FAART e

A)3Ter By

cyaty D)dtad

Answer Key : C

uestion No. 143

A perfect engine works on the Carnot cycle between temperatures 727 °C and 227 °C. The efficiency of the

engine is-
A)30% B)50%
C)60% D)70%

TF S 3ot 727 °C 3R 227 °C I9AW & 9T Feile I I HIH AT g1 Solel $T 87T fhder 872
A)30% B)50%

C)60% D)70%

Answer Key : B
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Question No. 144
The ratio of the RMS velocity to the most probable velocity is-

C) D)

V2:B8 J3:42

RMS 371 3R wa@ §o1fad 397 &7 requra faraan gom?

JE:\B VB2

Answer Key : D

Question No. 145
The dimensional formula for Planck's constant is given as-
AMILT B)ML2T"
CIVELET D)M2LTT
e Ui & 3 g g &
AMILT B)ML2T-
C)M2L-2T- D)M2L1T
Answer Key : B

Question No. 146

According to the kinetic theory of gases, the RMS velocity of a gas may depend on the
gas.

A)Mass B)Pressure

C)Work done D)Viscosity

of the


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal2417) A Eodle pay

A4t & aifasr Rgid & IgER, d F RMS AT, A F W AT & Tl &
A) g B)gara
C)fd 71T &1 (ah) D)_&TAT

Answer Key : A

Question No. 147
When the polytropic exponent value is infinity, the expansion or compression takes place at constant-
A)Volume B)Pressure
C)Temperature D)Entropy
9 qTeligie grdie A 3d aar §, o AR ar adea R W gfed g gl
A) ATITT B)cara
C)argarst D)uegrdr

Answer Key : A
Question No. 148
What is the COP of the refrigerator that requires 0.5 KW per KW of cooling to maintain a temperature of -15
°C if the refrigerator is working on the reversed Carnot cycle?
A)1.5 B)2
C)3 Dy

39 IreReT F1 COP fhraar g faa# -15 °C # a9 §T @A & fav 0.5 KW 9fd KW efaeer #r
Jaeear gl €, A a7 ISR Y (reversed) Fee T5h I F HT T@T §?

A)1.5 B)2

C)3 D)4

AnswerKey:B

Question No. 149
For which combination of temperatures is the efficiency of the Carnot engine 33.33%?
A)80 K and 60 K B)100 K and 80 K
C)60 Kand 40 K D)40 K and 20 K

A9A F BFE TS & AT FEfe S99 fr garar 33.33% aer 87
A)80 K 3T 60 K B)100 K 3iR 80 K

C)60 K 31X 40 K D)40 K 3iX 20 K
Answer Key : C

uestion No. 150
Which of the following statements is TRUE about the isothermal process? (Assume the gas used in this
process is an ideal gas)
A)The change in internal energy is always non-zero  B)The change in enthalpy is always non-zero
C)The work done is always zero D)The change in both the internal energy and enthalpy

is zero

T 9T F AR F eeffl@a F F Fla-w v v 82 (e AT &F sw ufer #F sgea W o
ee A §)
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A& T # 9Radd W¢@ AT (non-zero) B)U=edT # aRads w&a deR &I ¢l

glar gl

C)ferar arar &1 W A B B D)3iaRe® Fofl 3R weded Al # dRada gz gar
gl

Answer Key : D
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